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-, as the labour f
esources, compleme
d as a result unemplo;

ease. LDCs have a backlog of unem;
ceeps on growing with a rapidly increasing population. This tends
e the level of unemployment manifold as compared with the
increase in labO_u_'_l";fOIéé,_ RE T LT
Population and Social Infrastructure. Rapidly growing population

essitates large investments in social infrastructure and diverts

ces from directly productive assets. Due to scarcity of resources,
‘is not possible to provide educational, health, medical, transport and
" housing facilities to the entire population. There is over-crowding
~ everywhere. As a result, the quality of these services goes down.
~ “Larger numbers mitigate against an improvement in the quality of the
" population as productive agents. The rapid increase in school-age
~ population and the expanding number of labour force entrants put
b d cVer-—%’eater‘ pressure on educational and training facilities and retard

 improvement in the quality of education. Similarly, too dense a

’ - population or a rapid rate of increase of population gg_grayagés the
problem of improving the health of population.” All this entails colossal
_investment. ¢ Ik ' : ¥ o
~ Population and Labour Force. The labour force in an economy is the
ratio of working population to total population. Assuming 50 years as’

i the. average life-expectancy in an underdeveloped country, the labour .

- forceis in effect the pumber of people in the age-group of 15-50 years.

- During the demographic transitional phase, the birth rate is high and the -

- death rate is on the decline. The result is that a larger perceni:age_of the

‘population is in the lower age-group of 1-15 years, and hence a

ercentage comprises the labour force. A large percentage of

the labour force is a heavy burden on the economy. On\‘th‘?, ‘

, a small lzbour force implies that comparatively there ar
to participate in productive employment. Even if the birth
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will have to be provided more

in the form of schools, roads, hospitals, water, etc. which
d to the national product directly and immediately, ' with the
1€ growth rate of the cconomy remains at a lower level, The
pital invested is high in directly productive activities as
overhead capital. So capital formation is ’adversely‘

the diversion of governmental resources from their m
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